GATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATC
0nTeGl“'OGnTOGM’CG‘ITOGRTGGﬂTOGRTOGIITcGﬂTOGﬂTOGﬂTGGnTOGHTOGﬁTcGﬂTcGﬁTcGﬁTOGlll'OGII'I’OGﬁTGGIITOGll'l'cGﬂ'l'cGIITOGRTOG!ITOGIITOGHTOGRTOGﬂ'l'c ¢

B ERCPCES BN SUF 5]
il 113 & 4 3 21 pzﬂi EIR W
$uh SR EAT Y o AT H543C %3

B4R B e PR

SOLYOOLUD0LUODLUODLUDOLYUDOLYUDOLYODLUDOLYUDODLUOOLUOOLYDOOLYDOOLUOOLUOOLUDOLYUDOLYUDOLUOOLUDOLYDDOLYOOLUOOLUOOLYUDOLUIOLYUDOLUDOLYDOLY
OLU9DLUDDLUDOLUODLUDOLUDOLUDOLUODOLUDOLUDOLUOOLUODLUIOLUDOLUDOLUDDLUOOLUDOLUDOLUOOLUDOLUDOLUDOLUODLUDDLUDOLUDDLYDOLUDOLYD: LU

g g
e 238
5 8 £ ¢
g8 gos

B g3o
g8 3os

< 50
£ , - g3
8t 8 09 : 30 AP BEy A ﬁ%%=ﬂw 238
338 £33
° . s 2,7 ;/.l——- Z _’.
L 09 : 42 4P EE T Y XfE i
pe Y -0 0
o0 . B 3 sah o ‘ ocR
308 09:54 A HEE W@ﬁ‘%ﬁ g5 3
av O 0c =
\"é . » N2 7 Ze 27 s 7 g g-.
g:s 10 : 06 ERE LR =ity WAz XER §_§
ook o
geg . P g % . 2 358
5 g 10 : 18 Al S g_f:,gﬁ * Ew g 3
£5o : . ; 8- 3
§§ 10 : 30 i%%?fﬂf’% Wrcqr XEF gz3
[ 0n>
SoE ; X 850
10 : 42 ek Lk Fa X
°-$ 258
52 10 : 54 2P FEEG AT WEL XfF g3
50 0D
Qog . , 2 o ’ L
ocs 11 : 06 AP A ERTIRE ¢ 3w EEF §§
vok o
oc o 5 = 1 A2 S 22 2 p 33
3 11:18 G ok 2k e EE S
&0 e z 8- 2
8-5 11+ 30 ¥ AT I a3 XfF 8 3
e O o>
ole . P > , £39
2=3 11 : 42 §Ji%5§fl,ﬁ FiE ¥ X R 328
8- % 5.2
332 12 : 00 S s 3
E50 aa
ﬂ; e i pid Ze 2”2 g-‘
S:3 13 : 00 i#%??i# B g §§
9; [+]
2" . ,z s , _’.g
H 13: 12 ‘%‘8‘?» o It Aw EEF g3
Y - e
a0 . d e 2 s 4 03
3% 13: 24 i#l“%lﬂi’ﬂr iR XEF $-3
€50 3:
goe . A ' 2 ’ g30
13 : 36 LES v ATH X
ge 8 ) p , 328
g‘é 13 : 48 2128 & T+ EEF §§
4 o . 8c3
S:3 14 : 00 e AP E T AT R 508
- £33
o . 2 N 2, 7 % 2
553 14 : 12 Al S HeptE EEF g3
23 32s
g_" 14 : 24 ERCRLE- ¢ =Ryl B ik EEF g3
e O 0~ D
"'G- . 7 ¢ E g-.
2:3 14 : 36 ._né%gﬂ Fﬁ:ﬁ?ﬁ KR 358
825 HE
HE: 14 : 48 Al oF - HARAL X fF g: 3
558 : ; g: s
s 15: 00 ’4#1“?551‘5% ‘:ME,T‘ET £ EF $:2
S = g3
253 g8
8- % 522
cg 03
8- 8 258
=2 oo R
8C 8 252
$o8 i
o= 5 °
5 g



